ZHQ1—2 XFR A8 () ksl

3XB%, 5
YZ T blHicizvwh
axXb &,

ab |,

T¥ETRTY, 2O

%5% DT 11

axX3 4 3Xald

3a

%%f%fz\ik

Y &4, 2o —Iib %

D& L,

a%-th

AAE /AN a
l_)' Z%ﬁ—o
I e, BRIEowsumny
23
5. IR OHTET,

3—2=1Thbhb,

3a—2a=1a ¢ts2s,

?ﬁi la cuny

i?mﬁﬁ-l:i<o d ¥ &,

XF0HBELTNWT

ZOXFVSLEERLTND

)
D —B=—1 *HLd5.

7C 11 X?@ﬁﬁ;;g(o 2a—3a=—1a ¢35,

Bl UXFofid

gg%é TRT .

— 1a cizn

—d

Y&RYo

zhpz,.aXa iz,

a2

Y&RT




LHQL—2 XFA A8 () K&l
pllic s> TEZ k3w,
m3a—2a|=| +(83—2)a |=| a
3a—ba|=|—(6—83)a |=|—2a
—3a+2a|=|—(8—2)a |=| —a
—3a+ba|=|+ (6—3)a |=]| 2a
—3a—2a|=|— (83+2)a |=|—ba
—3a—ba|=|— (8+5)a |=|—8a
toEO T L) ERICAEL, B22KDL 3o
(—3a)+(—2a) =—3a—2a —bBa
(—3a)—(—2a) =—83a+2a =-—a
(—3a)+(—3a) =—3a—3a =—06a
(—3a)—(—8a) =—3a+3a = 0
(—3a)+(—ba) =—3a—ba =—8a
(—3a)—(—ba) =—8a+ba = 2a



L Q12 XFER

Mo+ —%2ETHED L,
(—2a)x(—3a)

=+2aX3a =06a’
(—3a) X (+4a)
=—3aX4a =-12a”
(—4a)X0

=—4aX0 = 0
(—12a) X (—2a)
=12aX2a =24a”
Ba-+{—2a)

=—0Ba+2a =-3
0+(—2a) =0
(—2a)

— -8a’

(—3a)

= 9a°

~ (2l

——8a”°
—2a"+(—2a)
—2a%+2a =a’
(—2a°)+(—2a)

—2a%+2a =a’

B ) KRG

(—0.2a)H —0.3a)

=—0.2a—03a =—0.0a
(—0.3a)+( —0.2a)

=—0.3a—0.2a =-—0.5a
(+0.2a)+( -0.3a)

=0.2a—03a =—0.la
(+0.2a) —(+0.3a)

=0.2a—03a =—0.1a

(-0.2a) —(-0.5a)

=—02a+0ba =0.3a
(-0.5a) —(-0.2a)

=—0.5a+02a =-—0.3a

(+0.2a) —(-0.5a)

=0.2a+0.5a =0.7a

0.2a ¢ ¥ 13

—02a ni#FFid

( -2)



Q12 XFRX R B( ) Rsl

1
79737 (=2 )l
'33 Za —13 i '
- 6° 6 ( —2 p__1y3
1 1 2 8
53—53
da ey 1 2
2 3 1 ( - ) =—d
—za—ga — P
(=2 yr( =2y
el gl
1 1 13
- - ——a? + -a? =—a?
_ 35 25_.2 4 9 36
6 6 6 Cay .
o e ( E)—( _3)
L 1o 19 5 o9
- -a“—-a® =—a
_2a_3a  5a 4 9 36
6 6 6 5 a
. (—2yp—( -2y
i :
1o, 19 )
3 4a a =—a~ ——-a =—-74d
T 9 4 36
12 2 12 ) .
(2Pt (-2
__a a
) 1 1 13
4 2 :_a2 _|___a2 oy -
9 4 36



L Q1-2 XFA A B( ) &SI

ab,c
‘322 b=3|c=—4
Td 5,

KORDMEE R Xy,

3a—2b 3a—2c
‘ =3X2—2X3 =0 =3X2—2X(-3) =12
(—3a) —(—2b) (—3a) —(—2¢)
—=—3a+2b =—3atZe
=X I X =) =—3X2+ 2X%X(-3)=-12
(—3a)+(—2b) (—3a) + (—2¢)
=—3a—2b == Rar—he
=—3X2—2X3 =—12 =—8X2 — 2X(-3)=0
(—3a) —(—2b) (—3a) —(—2c)
=—3at2b ==3a + Y%c
| =—3X242X3 =0 =—8X2 + 2X(-3)=-12
|
(—3a)+(—5b) (—3a) + (—5c)
=-—=3a—bb =—3a — B¢
=—8X2—5X38 =-21 =—3X2 — 5X(-3)=9
(—8a) —(—5bb) (—3a) —(—5c)
=—=3a+5b =—3a + be
=—3X2+5X3 =9 =—3X2 +5X(-3)=-21



ZHQ1-2 XFA

ROFFEE, XFATRL LIV,

100a 2T, aMo o *d - -8o
Lok

100—a |

118 a Ao guth %
TIEE - X 4e13

7a ()

¥ 7 »* dcm, *ﬁﬁ;bcm )
EF W o @t

ab

(cm?)

EXAQem 7 —7%5%5 L EH0
1A0& 32

a

5 (cm)

50 Mo F a ke
O MM F b EE - LFoReld

50a+80 b ()

a Mo 3% e8I

3a
10 (M)

A B ) Ks |

134 dem »EFH M o &AL

@

(cm?)

B dem,. % %4 Dem o

FATWAR o @R I

ab

(cm?)

% #4845 Bem ¥ Dem @

U Lo @il

ab
2

(cm?)

¥4 Tem o o @il

7T 12

(cm?)

14" Qem D EF ko FEmFgld

6a”

(cm®)

1A% Aem O EH PR RA 14

aB

(cm®)




